Alternative scenario A

Healthcare perspective
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Additional effects

Social care perspective
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Alternative scenario B

Healthcare perspective

1% 15.000 -~ 2% ., 100%
O
<
" 10.000 - “ % . . g 80%
8 N o . 8
> i T 0%
T 5.000° 2 & O%
ke : o
= ©
S . 5 40%
< r T 0~ B
-10,00 -5,00 ) —~.: 15,00 _rau 20%
-5.000 +* % S
“ 0%
0% i 9 QO O O O O O O O
o -10.000 20% BN \90 \?)0 q/QQ q(/,)o %QQ %%Q
Additional effects Willingness to pay; € / point on T-score
Social care perspective
15.000 100%
1% 58% 7
. o
@ 10.000 - £ 80%
g g
E 5.000, .5 9 60%
Ke! o 2
X ‘ o
kS . 5 40%
<< T T e =
-10,00  -5,00 X 15,00 _rau 20%
-5.000 *<n 3
e : T 0%
1% -10.000 - : ' 40% ° QQQ @00 %QQQ {90 %QQQ %%QQ
Additional effects Willingness to pay; € / point on T-score
Societal perspective
0% A
(]
c
@ 10.000 2 80%
g g
E 5.000 9 60%
o ' 2
X o
S . 5 40%
<< T T O =
-10,00  -5,00. 5 20
-5.000 3
“ 0%
1% -10.000 O PP E P
I S G S R S 2

Additional effects Willingness to pay; € / point on T-score



Alternative scenario C
Healthcare perspective
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Social care perspective
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Alternative scenario D

Healthcare perspective
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Social care perspective
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Societal perspective
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